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(1) Qxrty) xXTr=141*+Txy

(3) (5a—6b)x(—2b)
=5a X (—2b)—6bx(—2b)
=—10ab+12b

(5) 2x(x+3y)
=2xXx+2x X3y

=2x"+6xy

(1) —2x(—3x+2y)
=—2xX(—=3x)—2x X2
=6x"—4xy

9) —3x(4x—3y+2)

=—=3xrX4xr—3xX(—3y)—3xx2
=—12x"+9xy —6x

(1) Gx*—10x)+5r=x—2

(3) (6axr+3ax)+(—3a)=—3x

G)  (Br+6xy)+ —%x

= BIZX(—é)—i—ﬁxyx(—%)

=—4x—8y
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(2)  (Ba—b)*x4a=12a*—4ab

4) 4x(2x—1)
=4rX2x+4xrx(—1)

=8x'—4x

(6) —3a(8a+1Tb)
=—3aX8a—3aXTb
=—24a’—21ab

(8) (x—3y—2)x4x
=xX4x—3yX4x—2X4x

=4x"—12xy—8x
(10) 3a(—a+2b—1)

=3aX(—a)+3ax2b+3ax(—1)
=—3a’+6ab—3a

(2) (8a’—2a)+2a=4a—1

4) (—10x*+x)+ *’726
2 2
= — 2 = &
10x? X " +x X v

=—20x+2

(6) (15x% —9xy") + %l’y

) 2 ; 2
— 2 = 2 =
152 %y X 3xy 9xy? X ry

=10x — 6y



